
 

Paper: 1MA1/2F 

Question Answer Mark Mark scheme Additional guidance  

13 (a) 6cd B1 

 

for 6cd or 6dc or cd6 oe 

 

Inclusion of × scores B0, eg 6 × cd oe 

 (b) – 5  M1 

 

for 3 + 2 × – 4 (= 3 – 8) 

 

 

   A1 cao 

 

 

14 (a) 12 M1 
for method to find speed, eg 36 ÷ 3 or 

36

3
  

 

Condone 36 ÷ (3 × 60) 

   A1 

 

cao 

 

 

 (b) Yes with 

supporting figures 

P1 

 

for process to find time, eg 36 ÷ 16 (= 2.25) or 36 ÷ 16 × 60 (= 135) 

 

 

   P1 

 

for full process to find figures to compare,   

eg 3 + “2.25” (= 5.25) or 3 hours + “2 hours 15 mins” (= 5 hours 15 mins) 

or 5 hours 20 mins – “2 hours 15 mins” (= 3 hours 5 mins) 

or 5 hrs 20 mins – 3 hours (= 2 hrs 20 mins) and 36 ÷ 16 (= 2.25) 

 

 

   C1 

 

Yes with correct supporting figures,  

eg 5.25(hours) (and 5.33.. hours) or 5 hours 15 mins  

or 3 hours 5 mins 

or 2 hrs 20 mins and 2 hrs 15 mins oe 

 

If units are provided they must be correct 

for their figures for the C mark  

 

15  525 M1 

 

 

for method to find the interest after one year,  

eg 3500 × 2.5 ÷ 100 (= 87.5) oe 

or 0.025 × 6 (= 0.15) oe 

or for a complete method, eg 3500 × 2.5 × 6 ÷ 100 oe 

or for 4025 or 2975 

 

May be implied by, eg 3587.5(0) 

Award M1 for 3500 × 1.025n 

   A1 

 

cao 

 

 

     

 

 


